



Some Properties of (p,q) - Fibonacci Numbers

Alongkot Suvarnamani^{1*}, Mongkol Tatong¹

¹Division of Mathematics, Faculty of Science and Technology
Rajamangala University of Technology Thanyaburi (RMUTT),
Thanyaburi, Pathum Thani, 12110, Thailand

*E-mail: kotmaster2@rmutt.ac.th

บทคัดย่อ

การวิจัยในครั้งนี้เราพิจารณาลำดับฟีโบนัชชีทั่วไป นั่นคือลำดับ (p,q) -ฟีโบนัชชี โดยเราใช้รูปแบบของไบเนทในการแสดงสมบัติบางประการของลำดับ (p,q) -ฟีโบนัชชี ทั้งนี้เราได้เอกลักษณ์บางประการสำหรับลำดับ (p,q) -ฟีโบนัชชี

คำสำคัญ: ลำดับฟีโบนัชชี, จำนวนฟีโบนัชชี, ลำดับ (p,q) -ฟีโบนัชชี, จำนวน (p,q) -ฟีโบนัชชี, รูปแบบของไบเนท

Abstract

In this paper, we consider the generalized Fibonacci sequence which is (p,q) -Fibonacci sequence. We used the Binet's formula to show some properties of (p,q) -Fibonacci number. We get some generalized identities of (p,q) -Fibonacci number.

Keywords: Fibonacci sequence, Fibonacci number, (p,q) -Fibonacci sequence, (p,q) -Fibonacci number, Binet's formula

Received: Jun 09, 2015

Revised: Nov 12, 2015

Accepted: Nov 13, 2015

1. Introduction

Fibonacci numbers cover a wide range of interest in modern mathematics as they appear in the comprehensive works of Koshy [4] and Vajda [5]. The Fibonacci numbers F_n are the terms of the sequence where each term is the sum of the two previous terms beginning with the initial values $F_0=0$, $F_1=1$ and $F_{n+1}=F_n+F_{n-1}$ for $n \geq 1$.

Falcon and Plaza [1] introduced the k -Fibonacci sequence $\{F_{k,n}\}$ which is defined as $F_{k,0}=0$, $F_{k,1}=1$ and $F_{k,n+1}=kF_{k,n}+F_{k,n-1}$ for $n \geq 1$, $k \geq 1$. If $k=1$, we get the classical Fibonacci sequence $\{0,1,1,2,3,5,8,13,\dots\}$. If $k=2$, we get the Pell sequence $\{0,1,1,2,5,12,29,70,\dots\}$.

The well-known Binet's formulas for k -Fibonacci numbers, see [1], are given by $F_{k,n} = \frac{r_1^n - r_2^n}{r_1 - r_2}$ where $r_1 = \frac{k + \sqrt{k^2 + 4}}{2}$ and $r_2 = \frac{k - \sqrt{k^2 + 4}}{2}$ are roots of the characteristic equation $r^2 - kr - 1 = 0$.

In 2007, Falco and Plaza [2] studied the k -Fibonacci sequence and the Pascal 2-triangle. Next, they considered the 3-dimensional k -Fibonacci spiral in [3]. In this paper, we find some properties of the (p,q) -Fibonacci numbers.

2. The (p,q) -Fibonacci Number

The (p,q) -Fibonacci sequence $\{F_{p,q,n}\}$ is defined as $F_{p,q,0}=0, F_{p,q,1}=1$ and $F_{p,q,n} = pF_{p,q,n-1} + qF_{p,q,n-2}$ for $p \geq 1$, $q \geq 1$ and $n \geq 2$.

The Binet's formulas for (p,q) -Fibonacci numbers are given by $F_{p,q,n} = \frac{r_1^n - r_2^n}{r_1 - r_2}$ where $r_1 = \frac{p + \sqrt{p^2 + 4q}}{2}$ and $r_2 = \frac{p - \sqrt{p^2 + 4q}}{2}$ are roots of the characteristic equation $r^2 - pr - q = 0$. We note that $r_1 + r_2 = p$, $r_1 r_2 = -q$ and $r_1 - r_2 = \sqrt{p^2 + 4q}$.

3. Main Results

Theorem 3.1. Let p, q and n be positive integers.

Then

$$F_{p,q,n+1}F_{p,q,n-1} - F_{p,q,n}^2 = (-1)^n q^{n-1}.$$

Proof. Let p, q and n be positive integers.

We have

$$\begin{aligned} & F_{p,q,n+1}F_{p,q,n-1} - F_{p,q,n}^2 \\ &= \left(\frac{r_1^{n+1} - r_2^{n+1}}{r_1 - r_2} \right) \left(\frac{r_1^{n-1} - r_2^{n-1}}{r_1 - r_2} \right) - \left(\frac{r_1^n - r_2^n}{r_1 - r_2} \right)^2 \\ &= \frac{(r_1^{2n} + r_2^{2n} - r_1^{n-1}r_2^{n+1} - r_1^{n+1}r_2^{n-1})}{(r_1 - r_2)^2} - \frac{(r_1^{2n} - 2r_1^n r_2^n + r_2^{2n})}{(r_1 - r_2)^2} \\ &= \frac{-r_1^{n-1} + r_2^{n-1} - r_1^{n-1}r_2^{n+1} + 2r_1^n r_2^n}{(r_1 - r_2)^2} \\ &= \frac{r_1^{n-1}r_2^{n-1}(-1)(r_1^2 - 2r_1 r_2 + r_2^2)}{(r_1 - r_2)^2} \\ &= \frac{(-1)^n q^{n-1} (r_1 - r_2)^2}{(r_1 - r_2)^2} \\ &= (-1)^n q^{n-1}. \end{aligned}$$

□

Remark 3.2. From Theorem 3.1, if $p=1$ and $q=1$ then the Cassini's identity is obtained, i.e., $F_{1,1,n+1}F_{1,1,n-1} - F_{1,1,n}^2 = (-1)^n$. It is similarly as $F_{n+1}F_{n-1} - F_n^2 = (-1)^n$.

Theorem 3.3. Let p, q and n be positive integers and $n \geq 2$. Then

$$F_{p,q,n-2}F_{p,q,n+1} - F_{p,q,n-1}F_{p,q,n} = (-1)^{n-1} pq^{n-2}.$$

Proof. Let p, q and n be positive integers and $n \geq 2$.

We have

$$\begin{aligned} & F_{p,q,n-2}F_{p,q,n+1} - F_{p,q,n-1}F_{p,q,n} \\ &= \left(\frac{r_1^{n-2} - r_2^{n-2}}{r_1 - r_2} \right) \left(\frac{r_1^{n+1} - r_2^{n+1}}{r_1 - r_2} \right) - \left(\frac{r_1^{n-1} - r_2^{n-1}}{r_1 - r_2} \right) \left(\frac{r_1^n - r_2^n}{r_1 - r_2} \right) \\ &= \frac{(r_1^{2n-1} + r_2^{2n-1} - r_1^{n-2}r_2^{n+1} - r_1^{n+1}r_2^{n-2})}{(r_1 - r_2)^2} - \frac{(r_1^{2n-1} + r_2^{2n-1} - r_1^n r_2^{n-1} - r_1^{n-1} r_2^n)}{(r_1 - r_2)^2} \\ &= \frac{-r_1^{n-2} + r_2^{n+1} - r_1^{n+1}r_2^{n-2} + r_1^n r_2^{n-1} + r_1^{n-1}r_2^n}{(r_1 - r_2)^2} \\ &= \frac{r_1^{n-2}r_2^{n-2}(-1)(r_1^3 + r_2^3 - r_1^2r_2 - r_1r_2^2)}{(r_1 - r_2)^2} \\ &= (-1)^{n-1} q^{n-2} (r_1 + r_2) \\ &= (-1)^{n-1} pq^{n-2}. \end{aligned}$$

□

Theorem 3.4. Let p, q, m and n be positive integers. Then

$$F_{p,q,m+n} = F_{p,q,m}F_{p,q,n+1} + qF_{p,q,m-1}F_{p,q,n}.$$

Proof. Let p, q and n be positive integers. We have

$$\begin{aligned} & F_{p,q,m}F_{p,q,n+1} + qF_{p,q,m-1}F_{p,q,n} \\ &= \left(\frac{r_1^m - r_2^m}{r_1 - r_2} \right) \left(\frac{r_1^{n+1} - r_2^{n+1}}{r_1 - r_2} \right) + (-r_1r_2) \left(\frac{r_1^{m-1} - r_2^{m-1}}{r_1 - r_2} \right) \left(\frac{r_1^n - r_2^n}{r_1 - r_2} \right) \\ &= \frac{(r_1^{m+n+1} + r_2^{m+n+1} - r_1^{n+1}r_2^m - r_1^m r_2^{n+1})}{(r_1 - r_2)^2} + \frac{(-r_1^{m+n} + r_2 - r_2^{m+n}r_1 + r_1^{n+1}r_2^m + r_1^m r_2^{n+1})}{(r_1 - r_2)^2} \\ &= \frac{r_1^{m+n+1} + r_2^{m+n+1} - r_1^{m+n}r_2 + r_2^{m+n}r_1}{(r_1 - r_2)^2} \\ &= \frac{r_1^{m+n}(r_1 - r_2) - r_1^{m+n}(r_1 - r_2)}{(r_1 - r_2)^2} \\ &= \frac{r_1^{m+n} - r_1^{m+n}}{(r_1 - r_2)} \\ &= F_{p,q,m+n}. \end{aligned}$$

□

Remark 3.5. From Theorem 3.4, if $p=1$ and $q=1$ then the shifting property is obtained, i.e.,

$$F_{1,1,m+n} = F_{1,1,m}F_{1,1,n+1} + F_{1,1,m-1}F_{1,1,n}.$$

It is similarly as $F_{m+n} = F_m F_{n+1} + F_{m-1} F_n$.

Theorem 3.6. Let p, q, m and n be positive integers. If $m \geq n$, then

$$F_{p,q,m}^2 - F_{p,q,m-n}F_{p,q,m+n} = (-1)^{m-n} q^{m-n} F_{p,q,n}^2.$$

Proof. Let p, q, m and n be positive integers.

Suppose that $m \geq n$, we have

$$\begin{aligned} & F_{p,q,m}^2 - F_{p,q,m-n}F_{p,q,m+n} \\ &= \left(\frac{r_1^m - r_2^m}{r_1 - r_2} \right)^2 - \left(\frac{r_1^{m-n} - r_2^{m-n}}{r_1 - r_2} \right) \left(\frac{r_1^{m+n} - r_2^{m+n}}{r_1 - r_2} \right) \\ &= \frac{(r_1^{2m} - 2r_1^m r_2^m + r_2^{2m})}{(r_1 - r_2)^2} - \frac{(r_1^{2m} + r_2^{2m} - r_1^{m+n} r_2^{m-n} - r_1^{m-n} r_2^{m+n})}{(r_1 - r_2)^2} \\ &= \frac{-r_1^{m-n} r_2^{m-n} (r_1^{2n} - 2r_1^n r_2^n + r_2^{2n})}{(r_1 - r_2)^2} \\ &= \frac{(-1)^{m-n} q^{m-n} (r_1^n - r_2^n)^2}{(r_1 - r_2)^2} \\ &= (-1)^{m-n} q^{m-n} F_{p,q,n}^2. \end{aligned}$$

□

Remark 3.7. From Theorem 3.6, if $p=1$ and $q=1$ then the Catalan's identity is obtained, i.e.,

$$F_{1,1,m}^2 - F_{1,1,m-n}F_{1,1,m+n} = (-1)^{m-n} F_{1,1,n}^2.$$

It is similarly as $F_m^2 - F_{m-n} F_{m+n} = (-1)^{m-n} F_n^2$.

Theorem 3.8. Let p, q, m, n and k be positive integers. Then

$$F_{p,q,m+n}F_{p,q,m+k} - F_{p,q,m}F_{p,q,m+n+k} = (-q)^m F_{p,q,n}F_{p,q,k}.$$

Proof. Let p, q, m, n and k be positive integers.

We have

$$F_{p,q,m+n} F_{p,q,m+k} - F_{p,q,m} F_{p,q,m+n+k}$$

$$= \left(\frac{r_1^{m+n} - r_2^{m+n}}{r_1 - r_2} \right) \left(\frac{r_1^{m+k} - r_2^{m+k}}{r_1 - r_2} \right) - \left(\frac{r_1^m - r_2^m}{r_1 - r_2} \right) \left(\frac{r_1^{m+n+k} - r_2^{m+n+k}}{r_1 - r_2} \right)$$

$$= \frac{r_1^m r_2^m (-r_1^n r_2^k - r_1^k r_2^n + r_1^{n+k} + r_2^{n+k})}{(r_1 - r_2)^2}$$

$$= \frac{(-q)^m (-r_2^k (r_1^n - r_2^n) + r_1^k (r_1^n - r_2^n))}{(r_1 - r_2)^2}$$

$$= \frac{(-q)^m (r_1^k - r_2^k) (r_1^n - r_2^n)}{(r_1 - r_2)^2}$$

$$= (-q)^m F_{p,q,n} F_{p,q,k}.$$

□

Remark 3.9. From Theorem 3.8, if $p=1$ and $q=1$

then the Vajda's identity is obtained, i.e.,

$$F_{1,1,m+n} F_{1,1,m+k} - F_{1,1,m} F_{1,1,m+n+k} = (-1)^m F_{1,1,n} F_{1,1,k}.$$

It is similarly as $F_{m+n} F_{m+k} - F_m F_{m+n+k} = (-1)^m F_n F_k$.

Theorem 3.10.

$$\lim_{n \rightarrow \infty} \frac{F_{p,q,n}}{F_{p,q,n-1}} = r_1$$

and

$$\lim_{n \rightarrow \infty} \frac{F_{p,q,n-1}}{F_{p,q,n}} = \frac{1}{r_1}.$$

Proof. We have

$$\lim_{n \rightarrow \infty} \frac{F_{p,q,n}}{F_{p,q,n-1}} = \lim_{n \rightarrow \infty} \frac{\frac{r_1^n - r_2^n}{r_1 - r_2}}{\frac{r_1^{n-1} - r_2^{n-1}}{r_1 - r_2}}.$$

Then

$$\lim_{n \rightarrow \infty} \frac{F_{p,q,n}}{F_{p,q,n-1}} = \lim_{n \rightarrow \infty} \frac{r_1^n - r_2^n}{r_1^{n-1} - r_2^{n-1}}.$$

So,

$$\lim_{n \rightarrow \infty} \frac{F_{p,q,n}}{F_{p,q,n-1}} = \lim_{n \rightarrow \infty} \frac{1 - \left(\frac{r_2}{r_1}\right)^n}{\frac{1}{r_1} - \left(\frac{r_2}{r_1}\right)^n \left(\frac{1}{r_2}\right)}.$$

Since $\left|\frac{r_2}{r_1}\right| < 1$, we obtain that

$$\lim_{n \rightarrow \infty} \frac{F_{p,q,n}}{F_{p,q,n-1}} = \frac{1}{\left(\frac{1}{r_1}\right)} = r_1.$$

In addition, we have

$$\lim_{n \rightarrow \infty} \frac{F_{p,q,n-1}}{F_{p,q,n}} = \frac{1}{r_1}.$$

□

4. Acknowledgement

This work was supported by the Faculty of Sciences and Technology, Rajammangala University of Technology Thanyaburi (RMUTT), Thailand

5. References

- [1] S. Falcon and A. Plaza, On the Fibonacci k-numbers, Chaos, Solitons and Fractals, 32 (2007): 1615 - 1624.
- [2] S. Falcon and A. Plaza, The k-Fibonacci Sequence and the Pascal 2-Triangle, Chaos, Solitons and Fractals, 33 (2007): 38 - 49.
- [3] S. Falcon and A. Plaza, On the 3-Dimensional k-Fibonacci Spiral, Chaos, Solitons and Fractals, 38 (2008): 993 - 1003.

- [4] T. Koshy, Fibonacci and Lucas Number with Applications, Wiley - Interscience, **New York**, NY, USA, 2001.
- [5] S. Vajda, Fibonacci and Lucas Number and the Golden Section , Ellis horwood, Chichester, UK, 1989.